2 Attempt any two parts of the following, 10x2=20

()

What s a regular expression? Construct a DFA
for the regular expression (00+001)*1.

()

Prove that the given set of language is not regular

L ={0° 1 00 o)

Describe the closure properties of regular
languages. Prove that regular languages are closed
under complementation.

3 Attempt any two parts of the following 10x2=20

(@)

Construct the context free language (CFL) for the
language {a" b [n>0}.

)

Prove that the given language L is derived from
a context free grammer.

L= bid |, > 1 '“0((
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is ambiguous.

(1) Prove that every regular language is a CFL.

10x2=20

Define a push down automation (PDA). Describe
the language of a PDA.

4 Attempt any two parts of the following.

(@

(b)

Construct the PDA for the language L=wew™ jw
in {a,bj, where R stands for reverse string,

(c) LetGbea CFG and its language is L(G). How

do you decide that L (G is finite ?
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§  Attempt any two parts of the following.

(@)

110407]

10x2=20

Define a Turing machine, Construct a Turing
machine for the language

L={w ¢ w | {ab}*}

Construct a Turing machine for the integer function
that computes addition of two integers, i.¢., if x
and y are two integers then flxy) =xty.

Define the recursive language. Do you agree that
every recursive language 1s recursive enumerable?
Justify your answer,
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